TÜBITAK

# Turkish Journal of Mathematics 

http://journals.tubitak.gov.tr/math/

Turk J Math
(2018) 42: $557-577$
(c) TÜBİTAK
doi:10.3906/mat-1703-114

# Construction of some new families of Apostol-type numbers and polynomials via Dirichlet character and $p$-adic $q$-integrals 

Yılmaz ŞíMŞEK*<br>Department of Mathematics, Faculty of Science, Akdeniz University, Antalya, Turkey

Received: 28.03.2017 • Accepted/Published Online: 31.05.2017 • Final Version: 24.03.2018


#### Abstract

In this paper, by applying the $p$-adic $q$-integrals to a family of continuous differentiable functions on the ring of $p$-adic integers, we construct new generating functions for generalized Apostol-type numbers and polynomials attached to the Dirichlet character of a finite abelian group. By using these generating functions with their functional equations, we derive various new identities and relations for these numbers and polynomials. These results are generalizations of known identities and relations including some well-known families of special numbers and polynomials such as the generalized Apostol-type Bernoulli, the Apostol-type Euler, the Frobenius-Euler numbers and polynomials, the Stirling numbers, and other families of numbers and polynomials. Moreover, by the help of these generating functions, we also construct other new families of numbers and polynomials with their generating functions. By using these functions, we investigate some fundamental properties of these numbers and polynomials. Finally, we also give explicit formulas for computing the Apostol-Bernoulli and Apostol-Euler numbers.


Key words: Generalized Bernoulli numbers and polynomials, generalized Euler numbers and polynomials, ApostolBernoulli and Apostol-Euler numbers and polynomials, Daehee numbers and polynomials, Stirling numbers, generating function, Dirichlet character, $p$-adic Volkenborn integral

## 1. Introduction

In this paper, by using the $p$-adic Volkenborn integral and the $p$-adic fermionic integral method, we construct generating functions. With the aid of these functions, we define some new families of special numbers and polynomials. As is well known, the special numbers and polynomials have many vital applications, not only in nearly all branches mathematics but also in other fields such as physics and engineering because it is fairly easy to do mathematical computation and operations by using polynomials. Polynomials and their generating functions are also used to solve real-world problems such as in physics, engineering, and biology. Therefore, by using the $p$-adic integral equation method and generating functions and their functional techniques, we introduce and investigate the various fundamental properties of our new families of the Apostol-type numbers and polynomials associated with the Dirichlet character with conductor $d$. We also show that our new numbers and polynomials are closely related to well-known classical numbers and polynomials that are the generalized Bernoulli numbers and polynomials and the generalized Euler numbers and polynomials, the Stirling numbers, and other families of numbers and polynomials such as the Frobenius-Euler polynomials, the Apostol-type Bernoulli and Euler numbers and polynomials, and the Daehee and Changhee numbers and polynomials.

[^0]In this paper we need the following notations and definitions:
$\mathbb{N}=\{1,2,3, \ldots\}, \mathbb{N}_{0}=\{0,1,2,3, \ldots\} . \mathbb{Z}, \mathbb{R}, \mathbb{C}$, and $\mathbb{Z}_{p}$ denote the set of integers, the set of real numbers, the set of complex numbers, and the set of $p$-adic integers, respectively. $0^{n}=1$ if $n=0$ and $0^{n}=0$ if $n \in \mathbb{N}$. Moreover, let $v \in \mathbb{N}_{0}$.

$$
(x)_{v}=x(x-1) \cdots(x-v+1)
$$

$(x)_{0}=1$ and

$$
\binom{x}{v}=\frac{x(x-1) \cdots(x-v+1)}{v!}=\frac{(x)_{v}}{v!}
$$

(cf. [1-39] and the references cited therein).
There is benefit in expressing the following comments on the $\lambda$-Bernoulli numbers and polynomials and $\lambda$-Euler numbers and polynomials, which have been studied in different sets. That is, on the set of complex numbers, we assume that $\lambda \in \mathbb{C}$, and on set of $p$-adic numbers numbers or $p$-adic integrals, we assume that $\lambda \in \mathbb{Z}_{p}$.

In order to define our new families of special numbers and polynomials, we also need the next well-known classical numbers and polynomials with their generating functions:

The Apostol-Bernoulli polynomials, $\mathcal{B}_{n}(x ; \lambda)$, are defined as follows:

$$
\begin{equation*}
F_{A}(t, x ; \lambda)=\frac{t e^{t x}}{\lambda e^{t}-1}=\sum_{n=0}^{\infty} \mathcal{B}_{n}(x ; \lambda) \frac{t^{n}}{n!} \tag{1.1}
\end{equation*}
$$

Observe that

$$
\mathcal{B}_{n}(\lambda)=\mathcal{B}_{n}(0 ; \lambda)
$$

denotes the Apostol-Bernoulli numbers (cf. [18, 28, 37-39] and the references cited therein). Note that $B_{n}=\mathcal{B}_{n}(0 ; 1)$ denotes the classical Bernoulli numbers (cf. [1-39] and the references cited therein).

Let $d \in \mathbb{N}$ and $(\mathbb{Z} / d \mathbb{Z})^{*}$ denote the unit group of reduced residue class modulo $d$. Throughout this paper, $\chi$ is a Dirichlet character with modulo $d$, which is a group homomorphism, i.e.

$$
\chi:(\mathbb{Z} / d \mathbb{Z})^{*} \rightarrow \mathbb{C} \backslash\{0\}
$$

(cf. [2]).
The generalized Apostol-Bernoulli numbers attached to the Dirichlet character, $\mathcal{B}_{n, \chi}(\lambda)$, are defined as follows:

$$
\begin{equation*}
\sum_{j=0}^{d-1} \frac{\lambda^{j} e^{t j} t \chi(j)}{\lambda^{d} e^{t d}-1}=\sum_{n=0}^{\infty} \mathcal{B}_{n, \chi}(\lambda) \frac{t^{n}}{n!} \tag{1.2}
\end{equation*}
$$

(cf. [1, 12, 19, 21, 39] and the references cited therein).
By combining (1.2) with (1.1), one can easily get

$$
\mathcal{B}_{n, \chi}(\lambda)=d^{n-1} \sum_{j=0}^{d-1} \lambda^{j} \chi(j) \mathcal{B}_{n}\left(\frac{j}{d} ; \lambda^{d}\right)
$$

If $\chi$ is a trivial character in (1.2), then the numbers $\mathcal{B}_{n, \chi}(\lambda)$ reduce to the Apostol-Bernoulli numbers; that is,

$$
\mathcal{B}_{n}(\lambda)=\mathcal{B}_{n, 1}(\lambda)
$$

(cf. [1, 12, 19, 21, 27, 29, 39] and the references cited therein).

The Apostol-Euler polynomials $\mathcal{E}_{n}(x, \lambda)$ are defined as follows:

$$
\begin{equation*}
F_{P 1}(t, x ; \lambda)=\frac{2 e^{t x}}{\lambda e^{t}+1}=\sum_{n=0}^{\infty} \mathcal{E}_{n}(x, \lambda) \frac{t^{n}}{n!} \tag{1.3}
\end{equation*}
$$

If we substitute $x=0$ into (1.3), then we have the Apostol-Euler numbers:

$$
\mathcal{E}_{n}(\lambda)=\mathcal{E}_{n}(0, \lambda)
$$

Substituting $\lambda=1$ into (1.3), one easily sees that

$$
E_{n}=\mathcal{E}_{n}^{(1)}(1)
$$

denotes the classical Euler numbers (cf. [4-39] and the references cited therein).
The generalized Apostol-Euler numbers attached to the Dirichlet character, $\mathcal{E}_{n, \chi}(\lambda)$, are defined as follows:

$$
\begin{equation*}
2 \sum_{j=0}^{d-1} \frac{\lambda^{j} e^{t j} \chi(j)}{\lambda^{d} e^{t d}+1}=\sum_{n=0}^{\infty} \mathcal{E}_{n, \chi}(\lambda) \frac{t^{n}}{n!} \tag{1.4}
\end{equation*}
$$

(cf. [19, 21, 39] and the references cited therein).
By combining (1.4) with (1.3), one easily sees that

$$
\mathcal{E}_{n, \chi}(\lambda)=d^{n} \sum_{j=0}^{d-1} \lambda^{j} \chi(j) \mathcal{E}_{n}\left(\frac{j}{d} ; \lambda^{d}\right)
$$

When $\chi \equiv 1$ in (1.4), one has

$$
\mathcal{E}_{n}(\lambda)=\mathcal{E}_{n, 1}(\lambda)
$$

(cf. [19, 21, 39]).
Let $u \in \mathbb{C}$ with $u \neq 1$. The Frobenius-Euler numbers are defined as follows:

$$
\begin{equation*}
F_{f}(t, u)=\frac{1-u}{e^{t}-u}=\sum_{n=0}^{\infty} H_{n}(u) \frac{t^{n}}{n!}, \tag{1.5}
\end{equation*}
$$

(cf. [7, 25, 34, 39] and the references cited therein).
The Stirling numbers of the first kind, $S_{1}(n, k)$, are defined as follows:

$$
\begin{equation*}
F_{S 1}(t, k)=\frac{(\log (1+t))^{k}}{k!}=\sum_{n=0}^{\infty} S_{1}(n, k) \frac{t^{n}}{n!} \tag{1.6}
\end{equation*}
$$

By using the above generating function, we have

$$
S_{1}(0,0)=1
$$

The other properties are given as follows:
$S_{1}(0, k)=0$ if $k>0 . S_{1}(n, 0)=0$ if $n>0 . S_{1}(n, k)=0$ if $k>n$ and also

$$
S_{1}(n+1, k)=-n S_{1}(n, k)+S_{1}(n, k-1)
$$

(cf. [32, 35], and see also the references cited in each of these earlier works).
Let $k \in \mathbb{N}_{0}$. The Stirling numbers of the second kind, $S_{2}(n, k)$, are defined as follows:

$$
\begin{equation*}
F_{S}(t, k)=\frac{\left(e^{t}-1\right)^{k}}{k!}=\sum_{n=0}^{\infty} S_{2}(n, k) \frac{t^{n}}{n!} \tag{1.7}
\end{equation*}
$$

By using (1.7), an explicit formula for the numbers $S_{2}(n, k)$ is given by

$$
\begin{equation*}
S_{2}(n, k)=\frac{1}{k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} j^{n} . \tag{1.8}
\end{equation*}
$$

From (1.7), we also have

$$
S_{2}(0,0)=1
$$

If $k>n$, then

$$
S_{2}(n, k)=0
$$

$S_{2}(n, 0)=0$ if $n>0$ and also

$$
S_{2}(n+1, k)=S_{2}(n, k-1)+k S_{2}(n, k)
$$

(cf. $[4,32,38]$ and the references cited therein).
The Bernoulli numbers of the second kind $b_{n}(0)$ are defined by means of the following generating function:

$$
\begin{equation*}
F_{b 2}(t)=\frac{t}{\log (1+t)}=\sum_{n=0}^{\infty} b_{n}(0) \frac{t^{n}}{n!} \tag{1.9}
\end{equation*}
$$

(cf. [32, p. 116]).
We also note that some authors denote the Bernoulli numbers of the second kind by $C_{n}$, which are also the so-called Cauchy numbers.

Integrating a falling factorial polynomial

$$
(u)_{n}=u(u-1) \cdots(u-n+1)
$$

from 0 to 1 , the Bernoulli numbers of the second kind are also computed by the following integral formula:

$$
b_{n}(0)=\int_{0}^{1}(u)_{n} d u
$$

(cf. [26, 32]; see also the references cited in each of these earlier works).
Let $\mathbb{K}$ be a field with a complete valuation. Let $C^{1}\left(\mathbb{Z}_{p} \rightarrow \mathbb{K}\right)$ be a set of continuous differentiable functions.

In order to define the $p$-adic $q$-integral on $\mathbb{Z}_{p}$, we need the $q$-Haar distribution, defined by Kim [14], as follows:

$$
\mu_{q}(x)=\mu_{q}\left(x+p^{N} \mathbb{Z}_{p}\right)=\frac{q^{x}}{\left[p^{N}\right]}
$$

where $q \in \mathbb{C}_{p}$ with $|1-q|_{p}<1$ and

$$
[x]=[x: q]=\left\{\begin{array}{c}
\frac{1-q^{x}}{1-q}, q \neq 1 \\
x, q=1
\end{array}\right.
$$

We observe that

$$
\lim _{q \rightarrow 1}[x: q]=x
$$

The $p$-adic $q$-integral of a function $f$ is defined by Kim [14] as follows:

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} f(x) d \mu_{q}(x)=\lim _{N \rightarrow \infty} \frac{1}{\left[p^{N}\right]} \sum_{x=0}^{p^{N}-1} f(x) q^{x} \tag{1.10}
\end{equation*}
$$

where $f \in C^{1}\left(\mathbb{Z}_{p} \rightarrow \mathbb{K}\right)$.
Taking limit $q \rightarrow 1$, (1.10) reduces to the Volkenborn integral (the $p$-adic bosonic integral), which is used to construct the Bernoulli type numbers and polynomials and the others, as follows:

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} f(x) d \mu_{1}(x)=\lim _{N \rightarrow \infty} \frac{1}{p^{N}} \sum_{x=0}^{p^{N}-1} f(x) \tag{1.11}
\end{equation*}
$$

where

$$
\mu_{1}(x)=\mu_{1}\left(x+p^{N} \mathbb{Z}_{p}\right)=\frac{1}{p^{N}}
$$

(cf. [33]; see also [11, 14, 21]).
Substituting

$$
\begin{equation*}
f(x)=\binom{x}{j} \tag{1.12}
\end{equation*}
$$

$j \in \mathbb{N}_{0}$, into (1.11), we have

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}}\binom{x}{j} d \mu_{1}(x)=\frac{(-1)^{j}}{j+1} \tag{1.13}
\end{equation*}
$$

(cf. [33, p. 168, Proposition 55.3]).
Kim [18] defined the fermionic $p$-adic integral, which is used to construct generating functions for the Euler, the Genochhi type numbers, and the others, as follows:

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} f(x) d \mu_{-1}(x)=\lim _{N \rightarrow \infty} \sum_{x=0}^{p^{N}-1}(-1)^{x} f(x) \tag{1.14}
\end{equation*}
$$

where $p \neq 2$ and

$$
\mu_{-1}(x)=\mu_{-1}\left(x+p^{N} \mathbb{Z}_{p}\right)=\frac{(-1)^{x}}{p^{N}}
$$

(cf. [11, 18]).
In order to give the integral of a function associated with the Dirichlet character with conductor $d$, we also need the following notations.

Let $p$ be a fixed prime. Letting $d$ be a fixed positive integer with $(p, d)=1$, we have

$$
\begin{aligned}
\mathbb{X} & =\mathbb{X}_{d}=\lim _{\overleftarrow{N}} \mathbb{Z} / d p^{N} \mathbb{Z} \\
\mathbb{X}_{1} & =\mathbb{Z}_{p}
\end{aligned}
$$

and

$$
a+d p^{N} \mathbb{Z}_{p}=\left\{x \in \mathbb{X} \mid x \equiv a\left(\bmod \left(d p^{N}\right)\right)\right\}
$$

where $a \in \mathbb{Z}$ satisfies the condition $0 \leq a<d p^{N}$.
Let $f \in U D\left(\mathbb{Z}_{p}, \mathbb{C}_{p}\right)$. Thus, we have

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}} f(x) d \mu_{1}(x)=\int_{\mathbb{X}} f(x) d \mu_{1}(x) \tag{1.15}
\end{equation*}
$$

(cf. $[11,12,14,16,33])$.
Let

$$
E^{d} f(x)=f(x+d)
$$

The following integral equation was defined by Kim [21, Theorem 3]:

$$
\begin{equation*}
q^{d} \int_{\mathbb{Z}_{p}} E^{d} f(x) d \mu_{-q}(x)-(-1)^{d} \int_{\mathbb{Z}_{p}} f(x) d \mu_{-q}(x)=[2] \sum_{j=0}^{d-1}(-1)^{d-j-1} q^{j} f(j) \tag{1.16}
\end{equation*}
$$

where $d$ is a positive integer. Substituting $d=1$ into (1.16), one has

$$
\int_{\mathbb{Z}_{p}}(q f(x+1)+f(x)) d \mu_{-q}(x)=(q+1) f(0)
$$

When $q \rightarrow 1$ in the above integral equation, we easily see that

$$
\int_{\mathbb{Z}_{p}}(f(x+1)+f(x)) d \mu_{-1}(x)=2 f(0)
$$

(cf. [21]). Substituting (1.12) into the above integral equation, Kim et al. [10] gave the following formula:

$$
\begin{equation*}
\int_{\mathbb{Z}_{p}}\binom{x}{j} d \mu_{-1}(x)=\frac{(-1)^{j}}{2^{j}} . \tag{1.17}
\end{equation*}
$$

Let us give a brief summary of our results as follows:

In Section 2, by using the fermionic $p$-adic integral method, we construct a generating function for generalized Apostol-type numbers and polynomials attached to the Dirichlet character $\chi$. A new family of generalized Apostol-type numbers are defined by the Dirichlet character with even and odd conductors. In other subsections, we define generalized Apostol-Changhee numbers attached to the Dirichlet character with odd conductor. By using generating functions and their functional equations, we derive many identities and relations associated with the generalized Apostol-Daehee numbers and polynomials, Apostol-Changhee numbers and polynomials, Stirling numbers, Bernoulli numbers of the second kind, Frobenius-Euler polynomials, generalized Bernoulli numbers, and generalized Euler numbers. Finally, we give the $p$-adic Volkenborn integral representations of these numbers with some combinatorial sums.

## 2. Generating functions for generalized Apostol-type numbers

By applying the fermionic $p$-adic $q$-integral on the set of $\mathbb{X}$ to the following function

$$
\begin{equation*}
f(x, t ; \lambda)=\lambda^{x}(1+\lambda t)^{x} \chi(x), \tag{2.1}
\end{equation*}
$$

where $\lambda \in \mathbb{Z}_{p}$, we construct generating functions for the generalized Apostol-Changhee numbers and polynomials attached to Dirichlet character $\chi$ with conductor $d$. By using these functions with their functional equations, we study and investigate some fundamental properties of these numbers and polynomials. We also show that these numbers and polynomials are related to the Stirling numbers, the Frobenius-Euler polynomials, the generalized Bernoulli numbers, the generalized Euler numbers, and the Daehee numbers and polynomials. Finally, fermionic integral representation of these numbers can be given.

Substituting (2.1) into (1.16), we get

$$
\begin{equation*}
\int_{\mathbb{X}} \lambda^{x}(1+\lambda t)^{x} \chi(x) d \mu_{-q}(x)=\frac{[2]}{(\lambda q)^{d}(1+\lambda t)^{d}-(-1)^{d}} \sum_{j=0}^{d-1}(-1)^{d-j-1} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j}, \tag{2.2}
\end{equation*}
$$

where $\lambda \in \mathbb{Z}_{p}$.
We have two cases in the above integral equation. In order to construct the generalized Apostoltype numbers and polynomials and other related numbers and polynomials, we peruse these cases, which are associated with a conductor of the Dirichlet character, in the next sections.

### 2.1. Generating functions for generalized Apostol-Changhee numbers and polynomials attached to the Dirichlet character with odd conductor

Here we give generating functions for generalized Apostol-Changhee numbers and polynomials associated with the Dirichlet character with odd conductor. By aid of these functions, we not only investigate many fundamental properties of these numbers and polynomials, but also derive various identities related to the generalized Apostol-Daehee and Apostol-Changhee numbers and polynomials, the Stirling numbers, the Bernoulli numbers of the second kind, the generalized Bernoulli numbers, the generalized Euler numbers, and the Frobenius-Euler polynomials.

Let $d$ be an odd integer. If $\chi$ is the Dirichlet character with conductor $d$, then equation (2.2) reduces to the following equation:

$$
\begin{equation*}
\int_{\mathbb{X}} \lambda^{x}(1+\lambda t)^{x} \chi(x) d \mu_{-q}(x)=\frac{[2]}{(\lambda q)^{d}(1+\lambda t)^{d}+1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j} . \tag{2.3}
\end{equation*}
$$

By using the above integral equation, we define the generalized Apostol-Changhee numbers and polynomials by means of the following generating functions, respectively:

$$
\begin{equation*}
F_{\mathfrak{E}}(t ; \lambda, q, \chi)=\frac{(1+q) \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j}}{(\lambda q)^{d}(1+\lambda t)^{d}+1}=\sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(\lambda, q) \frac{t^{n}}{n!} \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
F_{\mathfrak{E}}(t, z ; \lambda, q, \chi)=F_{\mathfrak{E}}(t ; \lambda, q, \chi)(1+\lambda t)^{z}=\sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!} \tag{2.5}
\end{equation*}
$$

From the above generating functions, we get

$$
\mathfrak{C h}_{n, \chi}(\lambda, q)=\mathfrak{C h}_{n, \chi}(0 ; \lambda, q)
$$

By using (2.4) and (2.5), we get

$$
\sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\binom{z}{n} \lambda^{n} t^{n} \sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(\lambda, q) \frac{t^{n}}{n!}
$$

Making the Cauchy product of the above right-hand side of the two infinite series, we get

$$
\sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}\left(\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(z)_{n-j} \mathfrak{C h}_{j, \chi}(\lambda, q)\right) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 1 Let $n \in \mathbb{N}_{0}$. Then we have

$$
\mathfrak{C h}_{n, \chi}(z ; \lambda, q)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(z)_{n-j} \mathfrak{C h}_{j, \chi}(\lambda, q)
$$

Remark 1 If $q \rightarrow 1$ and $\lambda=1$ and $\chi \equiv 1$, then (2.5) reduces to the generating function for the Changhee polynomials:

$$
\frac{2}{t+2}(1+t)^{z}=\sum_{n=0}^{\infty} C h_{n}(z) \frac{t^{n}}{n!}
$$

From this equation, we see that

$$
C h_{n}=C h_{n}(0)
$$

where $C h_{n}$ denotes the Changhee numbers (cf. [10, 22], and also see [6, 8-10, 15]).
By using (2.3), a fermionic $p$-adic $q$-integral representation for the generalized Changhee numbers is given by the following theorem:

Theorem 2 Let $n \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\mathfrak{C h}_{n, \chi}(\lambda, q)=\int_{\mathbb{X}} \lambda^{x+n}(x)_{n} \chi(x) d \mu_{-q}(x) \tag{2.6}
\end{equation*}
$$

By using (2.3), we also get the following functional equation:

$$
F_{\mathfrak{C}}(t, x ; \lambda, q, \chi)=\frac{(1+q)}{2} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} F_{P 1}\left(d \log (1+\lambda t), \frac{j}{d} ;(\lambda q)^{d}\right)
$$

Combining the above equation with (1.3) and (2.4), we obtain

$$
\frac{(1+q)}{2} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} \sum_{n=0}^{\infty} d^{n} \mathcal{E}_{n}\left(\frac{j}{d} ;(\lambda q)^{d}\right) \frac{(\log (1+\lambda t))^{n}}{n!}=\sum_{m=0}^{\infty} \mathfrak{c} h_{m, \chi}(\lambda, q) \frac{t^{m}}{m!}
$$

Combining (1.6) with the above equation, we obtain

$$
\frac{[2]}{2} \sum_{j=0}^{d-1} \chi(j)(-\lambda q)^{j} \sum_{n=0}^{\infty} d^{n} \mathcal{E}_{n}\left(\frac{j}{d} ;(\lambda q)^{d}\right) \sum_{m=0}^{\infty} S_{1}(m, n) \frac{(\lambda t)^{m}}{m!}=\sum_{m=0}^{\infty} \mathfrak{C} h_{m, \chi}(\lambda, q) \frac{t^{m}}{m!}
$$

Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, since $S_{1}(m, n)=0, m<n$, we arrive at the following theorem:

Theorem 3 Let $m$ be a nonnegative integer. Then we have

$$
\begin{equation*}
\mathfrak{C h}_{m, \chi}(\lambda, q)=\sum_{j=0}^{d-1}(-q)^{j} \chi(j) \sum_{n=0}^{m} \lambda^{j+m} d^{n} \mathcal{E}_{n}\left(\frac{j}{d} ;(\lambda q)^{d}\right) S_{1}(m, n) . \tag{2.7}
\end{equation*}
$$

By combining (2.7) with the following widely known interesting formula including the generalized Euler numbers,

$$
\mathfrak{C h}_{n, \chi}(\lambda)=d^{n} \sum_{j=0}^{d-1}(-1)^{j} \lambda^{j} \chi(j) \mathcal{E}_{n}\left(\frac{j}{d} ; \lambda^{d}\right)
$$

we arrive at the following corollary:
Corollary 1 Let $m \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
\mathfrak{C h}_{m, \chi}(\lambda, q)=\sum_{n=0}^{m} \mathcal{E}_{n, \chi}(q \lambda) S_{1}(m, n) \tag{2.8}
\end{equation*}
$$

Remark 2 If $q \rightarrow 1, \lambda=1$ and $\chi \equiv 1$, then (2.8) reduces to the following well-known result, which was proved by Kim et al. (cf. [10]):

$$
C h_{m}=\sum_{n=0}^{m} E_{n} S_{1}(m, n)
$$

Substituting $\lambda t=e^{u}-1$ into (2.4), we get

$$
\begin{equation*}
\frac{[2]}{(\lambda q)^{d} e^{d u}+1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} e^{j u}=\sum_{n=0}^{\infty} \mathfrak{C h}_{n, \chi}(\lambda, q) \frac{\left(e^{u}-1\right)^{n}}{n!} \tag{2.9}
\end{equation*}
$$

By substituting (1.7) into the above equation, since $S_{2}(m, n)=0$ with $n>m$, we get

$$
\sum_{m=0}^{\infty} \frac{[2]}{2} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} d^{m} \mathcal{E}_{m}\left(\frac{j}{d} ;(\lambda q)^{d}\right) \frac{u^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{n=0}^{m} \frac{\mathfrak{C h}_{n, \chi}(\lambda, q) S_{2}(m, n)}{\lambda^{n}} \frac{u^{m}}{m!}
$$

Comparing the coefficients of $\frac{u^{m}}{m!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 4

$$
\frac{[2]}{2} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} d^{m} \mathcal{E}_{m}\left(\frac{j}{d} ;(\lambda q)^{d}\right)=\sum_{n=0}^{m} \frac{\mathfrak{C h}_{n, \chi}(\lambda, q) S_{2}(m, n)}{\lambda^{n}}
$$

or

$$
\begin{equation*}
\mathcal{E}_{m}, \chi(\lambda)=\frac{2}{[2]} \sum_{n=0}^{m} \frac{\mathfrak{C h}_{n, \chi}(\lambda, q) S_{2}(m, n)}{\lambda^{n}} \tag{2.10}
\end{equation*}
$$

Remark 3 If $\chi \equiv 1, q \rightarrow 1$, and $\lambda=1$, then (2.10) reduces to the following well-known result, which was proved by Kim et al. (cf. [10]):

$$
E_{m}=\sum_{n=0}^{m} C h_{n} S_{2}(m, n)
$$

Replacing $\lambda$ by $-\lambda$ and $1-\lambda t=e^{u}$ in equation (2.4), we get

$$
u \sum_{n=0}^{\infty}(-1)^{n+1} \mathfrak{C h}_{n, \chi}(-\lambda, q) \frac{\left(e^{u}-1\right)^{n}}{\lambda^{n} n!}=[2] \sum_{m=0}^{\infty} \mathcal{B}_{m, \chi}(\lambda q) \frac{u^{m}}{m!}
$$

Substituting (1.7) into the above equation, since $S_{2}(m, n)=0$ with $n>m$, we get

$$
\sum_{m=0}^{\infty} \mathcal{B}_{m, \chi}(\lambda q) \frac{u^{m}}{m!}=\sum_{m=0}^{\infty}\left(\frac{m}{[2]} \sum_{n=0}^{m-1} \frac{(-1)^{n+1}}{\lambda^{n}} \mathfrak{C h}_{n, \chi}(-\lambda, q) S_{2}(m-1, n)\right) \frac{u^{m}}{m!}
$$

Comparing the coefficients of $\frac{u^{m}}{m!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 5 Let $m$ be a positive integer. Then we have

$$
\begin{equation*}
\mathcal{B}_{m, \chi}(\lambda q)=\frac{m}{[2]} \sum_{n=0}^{m-1} \frac{(-1)^{n+1}}{\lambda^{n}} \mathfrak{C h}_{n, \chi}(-\lambda, q) S_{2}(m-1, n) \tag{2.11}
\end{equation*}
$$

If $\chi \equiv 1$ and $q \rightarrow 1$, then equation (2.11) reduces to the following corollary:

Corollary $2 \mathcal{B}_{m}(\lambda)=\frac{m}{2} \sum_{n=0}^{m-1} \frac{(-1)^{n+1}}{\lambda^{n}} C h_{n}(-\lambda, 1) S_{2}(m-1, n)$.
By combining (1.5) with (2.9), we obtain

$$
\sum_{m=0}^{\infty} \frac{(1+q)}{\left(\lambda^{d} q^{d}+1\right)} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} d^{m} H_{m}\left(\frac{j}{d} ;-\frac{1}{(\lambda q)^{d}}\right) \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{n=0}^{m} \frac{\mathfrak{C h}_{n, \chi}(\lambda, q) S_{2}(m, n)}{\lambda^{n}} \frac{t^{m}}{m!}
$$

where $d$ is an odd integer. Comparing the coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 6 Let $d$ be an odd integer. Then we have

$$
\frac{(1+q)}{\left(\lambda^{d} q^{d}+1\right)} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} d^{m} H_{m}\left(\frac{j}{d} ;-\frac{1}{(\lambda q)^{d}}\right)=\sum_{n=0}^{m} \frac{\mathfrak{C h}_{n, \chi}(\lambda, q) S_{2}(m, n)}{\lambda^{n}}
$$

If $\chi \equiv 1$ and $q \rightarrow 1$, then (2.11) reduces to the following corollary:

## Corollary 3

$$
H_{m}\left(-\frac{1}{\lambda}\right)=\frac{\lambda+1}{2} \sum_{n=0}^{m} \frac{C h_{n}(\lambda, 1) S_{2}(m, n)}{\lambda^{n}}
$$

### 2.2. A new family of generalized Apostol-type numbers attached to the Dirichlet character with even conductor

Here we give generating functions for new families of generalized Apostol-type numbers and polynomials attached to the Dirichlet character with even conductor. These functions give us many facilities to derive many identities and relations. These relations and identities are related to various well-known special numbers and polynomials, such as the generalized Apostol-Daehee and Apostol-Changhee numbers and polynomials, the Stirling numbers, the Bernoulli numbers of the second kind, the Frobenius-Euler polynomials, the generalized Bernoulli numbers, the generalized Euler numbers, and the Frobenius-Euler polynomials.

Let $d$ be an even integer. If $\chi$ is the Dirichlet character with even conductor $d$, then equation (2.2) reduces to the following integral equation:

$$
\int_{\mathbb{X}} \lambda^{x}(1+\lambda t)^{x} \chi(x) d \mu_{-q}(x)=\frac{-(1+q)}{(\lambda q)^{d}(1+\lambda t)^{d}-1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j} .
$$

By using the above equation, we define a new family of special numbers including generalized Apostol-type numbers by means of the following generating functions:

$$
\begin{equation*}
H(t ; \lambda, q, \chi)=\frac{(1+q) \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j}(1+\lambda t)^{j}}{(\lambda q)^{d}(1+\lambda t)^{d}-1}=\sum_{n=0}^{\infty} Y_{n, \chi}(\lambda, q) \frac{t^{n}}{n!} \tag{2.12}
\end{equation*}
$$

where $d$ is an even positive integer and $\lambda \in \mathbb{Z}_{p}$ with $\lambda \neq 1$.

We modify equation (2.12) as follows:

$$
\begin{aligned}
H(t ; \lambda, q, \chi) & =(1+q) \sum_{m=0}^{\infty}(-1)^{m} \chi(m)(\lambda q)^{m}(1+\lambda t)^{m} \\
& =\sum_{n=0}^{\infty} Y_{n, \chi}(\lambda, q) \frac{t^{n}}{n!}
\end{aligned}
$$

If $q \rightarrow 1$ in (2.12), then we get the following generating functions for the numbers $Y_{n, \chi}(\lambda)$ :

$$
\frac{2 \sum_{j=0}^{d-1}(-1)^{j} \chi(j) \lambda^{j}(1+\lambda t)^{j}}{\lambda^{d}(1+\lambda t)^{d}-1}=\sum_{n=0}^{\infty} Y_{n, \chi}(\lambda) \frac{t^{n}}{n!}
$$

Using the motivation of the above generating equation, we also derive another generating function for a new family of numbers, $Y_{n}(\lambda)$, as follows:

$$
\begin{equation*}
g(t ; \lambda)=\frac{2}{\lambda^{2} t+\lambda-1}=\sum_{n=0}^{\infty} Y_{n}(\lambda) \frac{t^{n}}{n!} \tag{2.13}
\end{equation*}
$$

The numbers $Y_{n}(\lambda)$ are related to various kinds of well-known numbers such as the Apostol-Bernoulli numbers, the $q$-Euler numbers, the Stirling numbers, the $q$-Changhee numbers, and the Daehee numbers. We investigate these relations in next section.

It is time to define a new family of the generalized Apostol-type polynomials, $Y_{n, \chi}(z ; \lambda, q)$, by means of the following generating function:

$$
\begin{equation*}
H(t, z ; \lambda, q, \chi)=(1+\lambda t)^{z} H(t ; \lambda, q, \chi)=\sum_{n=0}^{\infty} Y_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!} \tag{2.14}
\end{equation*}
$$

Combining (2.14) with (2.12), we deduce that

$$
Y_{n, \chi}(\lambda, q)=Y_{n, \chi}(0 ; \lambda, q)
$$

By using (2.14) and (2.12), we obtain

$$
\sum_{n=0}^{\infty} Y_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}(z)_{n} \lambda^{n} \frac{t^{n}}{n!} \sum_{n=0}^{\infty} Y_{n, \chi}(\lambda, q) \frac{t^{n}}{n!}
$$

By using the Cauchy rule of product for the above series, we get

$$
\sum_{n=0}^{\infty} Y_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(z)_{n-j} Y_{j, \chi}(\lambda, q) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:
Theorem 7 Let $n \in \mathbb{N}_{0}$. Let $d$ be an even positive integer. Then we have

$$
\begin{equation*}
Y_{n, \chi}(z ; \lambda, q)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(z)_{n-j} Y_{j, \chi}(\lambda, q) \tag{2.15}
\end{equation*}
$$

Substituting $\lambda t=e^{u}-1$ into (2.12), we get the following functional equation:

$$
H\left(\lambda^{-1}\left(e^{u}-1\right) ; \lambda, q, \chi\right)=\frac{1+q}{d u} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} F_{A}\left(d u, \frac{j}{d} ; \lambda^{d} q^{d}\right)
$$

Combining the above equation with (1.1) and (2.12), we have

$$
(1+q) \sum_{n=0}^{\infty} d^{n-1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} \mathcal{B}_{n}\left(\frac{j}{d} ; \lambda^{d} q^{d}\right) \frac{u^{n}}{n!}=\sum_{n=0}^{\infty} n \sum_{m=0}^{n-1} \lambda^{-m} Y_{m, \chi}(\lambda, q) S_{2}(n-1, m) \frac{u^{n}}{n!}
$$

Equating coefficients of $\frac{u^{n}}{n!}$ on both sides of the above equation, we obtain the following theorem:
Theorem 8 Let $n \in \mathbb{N}$. Let $d$ be an even positive integer. Then we have

$$
\sum_{m=0}^{n-1} \lambda^{-m} Y_{m, \chi}(\lambda, q) S_{2}(n-1, m)=\frac{(1+q) d^{n-1}}{n} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} \mathcal{B}_{n}\left(\frac{j}{d} ; \lambda^{d} q^{d}\right)
$$

We give the following functional equation:

$$
d \log (1+\lambda t) \mathbf{H}(t ; \lambda, q, \chi)=(1+q) \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} F_{A}\left(d \log (1+\lambda t), \frac{j}{d} ; \lambda^{d} q^{d}\right)
$$

Combining the above equation with (1.1) and (2.12), we obtain

$$
\sum_{m=0}^{\infty} Y_{m \cdot \chi}(\lambda, q) \frac{t^{m}}{m!}=(1+q) \sum_{n=0}^{\infty} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} d^{n-1} \mathcal{B}_{n}\left(\frac{j}{d} ;(\lambda q)^{d}\right) \frac{(\log (1+\lambda t))^{n-1}}{n!}
$$

Combining the above equation with (1.6), we have

$$
\sum_{m=0}^{\infty} Y_{m \cdot \chi}(\lambda, q) \frac{t^{m}}{m!}=(1+q) \sum_{m=0}^{\infty} \sum_{n=0}^{m} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} d^{n-1} \mathcal{B}_{n+1}\left(\frac{j}{d} ;(\lambda q)^{d}\right) S_{1}(m, n) \frac{(\lambda t)^{m}}{(n+1) m!}
$$

since $S_{1}(m, n)=0$ with $m<n$. Equating coefficients of $\frac{t^{m}}{m!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 9 Let $m \in \mathbb{N}$. Let $d$ be an even positive integer. Then we have

$$
\begin{equation*}
Y_{m \cdot \chi}(\lambda, q)=\lambda^{m} \sum_{n=0}^{m} \frac{(1+q) d^{n-1} S_{1}(m, n)}{n+1} \sum_{j=0}^{d-1}(-1)^{j} \chi(j)(\lambda q)^{j} \mathcal{B}_{n+1}\left(\frac{j}{d} ;(\lambda q)^{d}\right) \tag{2.16}
\end{equation*}
$$

If we set $\chi \equiv 1$ and $q \rightarrow 1$ in (2.16), we get the following corollary:
Corollary 4 Let $m \in \mathbb{N}$. Then we have

$$
Y_{m}(\lambda)=2 \lambda^{m} \sum_{n=0}^{m} \frac{\mathcal{B}_{n+1}(\lambda) S_{1}(m, n)}{n+1}
$$

### 2.3. Derivative and integrals of the polynomials $Y_{n, \chi}(z ; \lambda, q)$

Here we give derivative formulas for the polynomials $Y_{n, \chi}(z ; \lambda, q)$. By applying the $p$-adic Volkenborn integral, we give some summation and combinatorial sums. By differentiating equation (2.14) with respect to $z$, we get

$$
\frac{\partial}{\partial z} H(t, z ; \lambda, q, \chi)=H(t, z ; \lambda, q, \chi) \log (1+\lambda t)
$$

From this equation, we have

$$
\sum_{n=0}^{\infty} \frac{\partial}{\partial z} Y_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}(-1)^{n} \frac{(\lambda t)^{n+1}}{n+1} \sum_{n=0}^{\infty} Y_{n, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}
$$

Therefore,

$$
\sum_{n=0}^{\infty} \frac{1}{n+1} \frac{\partial}{\partial z} Y_{n+1, \chi}(z ; \lambda, q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \sum_{j=0}^{n}(-1)^{j} \frac{\lambda^{j+1}}{(j+1)(n-j)!} Y_{n-j, \chi}(z ; \lambda, q) t^{n}
$$

Comparing the coefficients of $t^{n}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 10 Let $n$ be a positive integer. Then we have

$$
\frac{\partial}{\partial z} Y_{n+1, \chi}(z ; \lambda, q)=\sum_{j=0}^{n}(-1)^{j}\binom{n+1}{j+1} j!\lambda^{j+1} Y_{n-j, \chi}(z ; \lambda, q)
$$

Integrating both sides of the equation (2.15) from 0 to 1 , we get

$$
\int_{0}^{1} Y_{n, \chi}(z ; \lambda, q) d z=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j} C_{n-j} Y_{j, \chi}(\lambda, q)
$$

where $C_{n-j}$ denotes the Cauchy numbers of the first kind.
By applying the $p$-adic integral to the equation (2.15), we arrive at the bosonic $q$-integral representation for the polynomials $Y_{n, \chi}(z ; \lambda, q)$ as follows:

$$
\int_{\mathbb{X}} Y_{n, \chi}(z ; \lambda, q) d \mu_{1}(z)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j} D_{n-j} Y_{j, \chi}(\lambda, q)
$$

Since

$$
D_{n}=(-1)^{n} \frac{n!}{n+1}
$$

(cf. $[5,8]$ ), we also get the following combinatorial sums:

Theorem 11

$$
\int_{\mathbb{X}} Y_{n, \chi}(z ; \lambda, q) d \mu_{1}(z)=\sum_{j=0}^{n}(-1)^{n-j}\binom{n}{j} \frac{(n-j)!\lambda^{n-j}}{n+1-j} Y_{j, \chi}(\lambda, q) .
$$

By applying the fermionic $p$-adic integral to the equation (2.15), we arrive at the fermionic $q$-integral representation for the polynomials $Y_{n, \chi}(z ; \lambda, q)$ as follows:

$$
\int_{\mathbb{X}} Y_{n, \chi}(z ; \lambda, q) d \mu_{-1}(z)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j} C h_{n-j} Y_{j, \chi}(\lambda, q) .
$$

Since

$$
C h_{n}=(-1)^{n} \frac{n!}{2^{n}}
$$

(cf. [10]), we also get the following combinatorial sums:

## Theorem 12

$$
\int_{\mathbb{X}} Y_{n, \chi}(z ; \lambda, q) d \mu_{-1}(z)=\sum_{j=0}^{n}(-1)^{n-j}\binom{n}{j} \frac{(n-j)!\lambda^{n-j}}{2^{n-j}} Y_{j, \chi}(\lambda, q) .
$$

### 2.4. Fundamental properties of the polynomials $Y_{n}(z ; \lambda)$ and the numbers $Y_{n}(\lambda)$

Here, using generating functions and functional equations, we derive recurrence relations for the numbers $Y_{n}(\lambda)$ and the polynomials $Y_{n}(z ; \lambda)$. We also derive some identities and relations including the generalized Bernoulli numbers, the generalized Euler numbers, the Stirling numbers, and the $q$-Changhee numbers. We also give some new formulas for computing the generalized Bernoulli numbers and the generalized Euler numbers.

By using the umbral calculus method in (2.13), we get the following recurrence relation for the numbers $Y_{n}(\lambda):$

Theorem 13 Let $n \in \mathbb{N}$. Starting with

$$
Y_{0}(\lambda)=\frac{2}{\lambda-1},
$$

we have

$$
\begin{equation*}
Y_{n}(\lambda)=\frac{n \lambda^{2}}{1-\lambda} Y_{n-1}(\lambda) . \tag{2.17}
\end{equation*}
$$

We now give an explicit formula for the number $Y_{n}(\lambda)$ by the following theorem:
Theorem 14 Let $n \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
Y_{n}(\lambda)=2(-1)^{n} \frac{n!}{\lambda-1}\left(\frac{\lambda^{2}}{\lambda-1}\right)^{n} . \tag{2.18}
\end{equation*}
$$

Proof We assume that $\left|\lambda^{2} t\right|<|\lambda-1|$. Thus, by equation (2.13), we get

$$
\sum_{n=0}^{\infty} Y_{n}(\lambda) \frac{t^{n}}{n!}=\frac{2}{\lambda-1} \sum_{n=0}^{\infty}(-1)^{n} \frac{\lambda^{2 n}}{(\lambda-1)^{n}} t^{n} .
$$

Comparing the coefficients of $t^{n}$ on both sides of the above equation, we arrive at the desired result.

We compute a few values of the numbers $Y_{n}(\lambda)$ by (2.17), as follows:

$$
\begin{aligned}
& Y_{1}(\lambda)=-\frac{2 \lambda^{2}}{(\lambda-1)^{2}}, Y_{2}(\lambda)=\frac{4 \lambda^{4}}{(\lambda-1)^{3}} \\
& Y_{3}(\lambda)=-\frac{12 \lambda^{6}}{(\lambda-1)^{4}}, Y_{4}(\lambda)=\frac{48 \lambda^{8}}{(\lambda-1)^{5}}, \ldots
\end{aligned}
$$

A new family of polynomials, $Y_{n}(z ; \lambda)$, is defined by means of the following generating function:

$$
\begin{equation*}
G(t, z ; \lambda)=g(t ; \lambda)(1+\lambda t)^{z}=\sum_{n=0}^{\infty} Y_{n}(z ; \lambda) \frac{t^{n}}{n!} \tag{2.19}
\end{equation*}
$$

so that, obviously,

$$
Y_{n}(\lambda)=Y_{n}(0 ; \lambda)
$$

By using the same proof of Theorem 7, and using (2.15), we get following formula:

$$
\begin{equation*}
Y_{n}(z ; \lambda)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(z)_{n-j} Y_{j}(\lambda) \tag{2.20}
\end{equation*}
$$

By using (2.15), we also get

$$
2(1+\lambda t)^{z}=\sum_{n=0}^{\infty} \lambda^{2} Y_{n}(z ; \lambda) \frac{t^{n+1}}{n!}+\sum_{n=0}^{\infty}(\lambda-1) Y_{n}(z ; \lambda) \frac{t^{n}}{n!}
$$

By using the above equation, we get

$$
2 \sum_{n=0}^{\infty}(z)_{n} \lambda^{n} \frac{t^{n}}{n!}=\lambda^{2} \sum_{n=0}^{\infty} Y_{n}(z ; \lambda) \frac{t^{n+1}}{n!}+(\lambda-1) \sum_{n=0}^{\infty} Y_{n}(z ; \lambda) \frac{t^{n}}{n!}
$$

Equating coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we obtain a recurrence relation for the polynomials $Y_{n}(z ; \lambda)$ by the following theorem:

Theorem 15 Let $n \in \mathbb{N}_{0}$. Then we have

$$
2(z)_{n} \lambda^{n}=n \lambda^{2} Y_{n-1}(z ; \lambda)+(\lambda-1) Y_{n}(z ; \lambda)
$$

We compute a few values of the numbers $Y_{n}(z ; \lambda)$ by (2.20), as follows:

$$
\begin{aligned}
Y_{0}(z ; \lambda) & =\frac{2}{\lambda-1} \\
Y_{1}(z ; \lambda) & =\frac{2 \lambda}{\lambda-1} z-\frac{2 \lambda^{2}}{(\lambda-1)^{2}}, \\
Y_{2}(z ; \lambda) & =\frac{2 \lambda^{2}}{\lambda-1} z^{2}-\frac{6 \lambda^{3}-2 \lambda^{2}}{(\lambda-1)^{2}} z+\frac{4 \lambda^{4}}{(\lambda-1)^{3}}, \\
Y_{3}(z ; \lambda) & =\frac{2 \lambda^{3}}{\lambda-1} z^{3}-\frac{12 \lambda^{4}-6 \lambda^{3}}{(\lambda-1)^{2}} z^{2}+\frac{22 \lambda^{5}-14 \lambda^{4}+4 \lambda^{3}}{(\lambda-1)^{3}} z-\frac{12 \lambda^{6}}{(\lambda-1)^{4}}, \ldots
\end{aligned}
$$

We give the following functional equation for the generating function $G(t, z ; \lambda)$ :

$$
G(t, z+w ; \lambda)=G(t, z ; \lambda)(1+\lambda t)^{w}
$$

From this equation, we get

$$
\sum_{n=0}^{\infty} Y_{n}(z+w ; \lambda) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty} \sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(w)_{n-j} Y_{j}(z ; \lambda) \frac{t^{n}}{n!}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:
Theorem 16 Let $n \in \mathbb{N}_{0}$. Then we have

$$
\begin{equation*}
Y_{n}(z+w ; \lambda)=\sum_{j=0}^{n}\binom{n}{j} \lambda^{n-j}(w)_{n-j} Y_{j}(z ; \lambda) \tag{2.21}
\end{equation*}
$$

Substituting $w=-1$ into (2.21), we get

$$
Y_{n}(z-1 ; \lambda)=n!\sum_{j=0}^{n}\binom{n}{j}(-1)_{n-j} \lambda^{n-j} Y_{j}(z ; \lambda)
$$

Theorem 17 Let $m \in \mathbb{N}$. Then we have

$$
\begin{equation*}
\mathcal{B}_{m}(\lambda)=\frac{m}{\lambda-1} \sum_{n=0}^{m-1} \sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\left(\frac{\lambda}{\lambda-1}\right)^{n} k^{m-1} . \tag{2.22}
\end{equation*}
$$

Proof Substituting $\lambda t=e^{u}-1$ into (2.13), we get

$$
\frac{2}{\lambda e^{u}-1}=\sum_{n=0}^{\infty} \lambda^{-n} Y_{n}(\lambda) \frac{\left(e^{u}-1\right)^{n}}{n!}
$$

Combining the above equation with (1.3), (1.1), and (1.7), we get

$$
\sum_{m=0}^{\infty} 2 \mathcal{B}_{m}(\lambda) \frac{u^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{n=0}^{m-1} m \lambda^{-n} Y_{n}(\lambda) S_{2}(m-1, n) \frac{u^{m}}{m!}
$$

since $S_{2}(m, n)=0$ with $m<n$. Equating coefficients of $\frac{u^{m}}{m!}$ on both sides of the above equation, we get

$$
\begin{equation*}
\mathcal{B}_{m}(\lambda)=\frac{m}{2} \sum_{n=0}^{m-1} \lambda^{-n} Y_{n}(\lambda) S_{2}(m-1, n) \tag{2.23}
\end{equation*}
$$

Substituting (2.18) and (1.8) into (2.23), we arrive at the desired result.

Remark 4 By using equation (2.23), the Apostol-Bernoulli numbers are easily computed by values of the numbers $Y_{n}(\lambda)$ and the Stirling numbers of the second kind. Explicit formulas for the Apostol-Bernoulli numbers were also proved by Apostol [1, Eq-(3.7)], and also see [3].

Remark 5 The formula in equation (2.22) is very useful and elegant because this formula is a combinatorial sum, which gives us direct computation of the Apostol-Bernoulli numbers.

In [23], Kim et al. defined the $q$-Changhee numbers by means of the following generating function:

$$
\begin{equation*}
T(t ; q)=\frac{q+1}{q t+q+1}=\sum_{n=0}^{\infty} C h_{n}(q) \frac{t^{n}}{n!} \tag{2.24}
\end{equation*}
$$

By using the above equation, we get the following functional equation:

$$
\sum_{n=0}^{\infty} C h_{n}(q) \frac{t^{n}}{n!}=\sum_{n=0}^{\infty}(-1)^{n}\left(\frac{q}{q+1}\right)^{n} t^{n}
$$

Comparing the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

Theorem 18

$$
\begin{equation*}
C h_{n}(q)=(-1)^{n}\left(\frac{q}{[2]}\right)^{n} n! \tag{2.25}
\end{equation*}
$$

By combining (2.24) and (1.3) for $x=0$ with (2.25), we get a explicit formula for the numbers $\mathcal{E}_{n}\left(\frac{q}{[2]}\right)$ by the following theorem:

## Corollary 5

$$
\mathcal{E}_{n}\left(\frac{q}{[2]}\right)=(-1)^{n}\left(\frac{q}{[2]}\right)^{n} n!.
$$

By using (2.24) and (1.3), we get

$$
\frac{[2]}{2 q} \sum_{m=0}^{\infty} \mathcal{E}_{m}\left(\frac{1}{q}\right) \frac{t^{m}}{m!}=\sum_{n=0}^{\infty} C h_{n}(q) \frac{\left(e^{t}-1\right)^{n}}{q^{n} n!}
$$

Combining the above equation with (1.7), we get

$$
\frac{[2]}{2 q} \sum_{m=0}^{\infty} \mathcal{E}_{m}\left(\frac{1}{q}\right) \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{n=0}^{m} \frac{1}{q^{n}} C h_{n}(q) S_{2}(m, n) \frac{t^{m}}{m!}
$$

since $S_{2}(m, n)=0$ with $m<n$. Combining the above equation with (2.25), we get

$$
\frac{[2]}{2 q} \sum_{m=0}^{\infty} \mathcal{E}_{m}\left(\frac{1}{q}\right) \frac{t^{m}}{m!}=\sum_{m=0}^{\infty} \sum_{n=0}^{m}(-1)^{n} \frac{n!}{[2]^{n}} S_{2}(m, n) \frac{t^{m}}{m!}
$$

By substituting (1.8) into the above equation and after equating the coefficients of $\frac{t^{n}}{n!}$ on both sides of the above equation, we arrive at the following theorem:

## Theorem 19

$$
\begin{equation*}
\mathcal{E}_{m}\left(\frac{1}{q}\right)=2 q \sum_{n=0}^{m} \sum_{k=0}^{n}(-1)^{k}\binom{n}{k} \frac{k^{m}}{[2]^{n+1}} . \tag{2.26}
\end{equation*}
$$

Remark 6 The formula in equation (2.26) is also very useful for direct computing of the Apostol-Bernoulli numbers.

Remark 7 By using the Changhee numbers of the second kind, Kim et al. [23, Theorem 4] gave the following computation formula for the $q$-Euler numbers as follows:

$$
\begin{equation*}
E_{n, q}=\sum_{k=0}^{n} \frac{1+[2]}{(q+1)^{k}} S_{2}(n, k), \tag{2.27}
\end{equation*}
$$

where the numbers $E_{n, q}$ are defined by means of the following generating function:

$$
\frac{1+q}{q e^{t}+1}=\sum_{n=0}^{\infty} E_{n, q} \frac{t^{n}}{n!}
$$

(cf. [23, 30]). By combining (1.7) with (2.27), we have the following explicit formula for the numbers $E_{n, q}$ as follows:

$$
E_{n, q}=\sum_{k=0}^{n} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} \frac{1+[2]}{k!(q+1)^{k}} j^{n}
$$

## Acknowledgment

The paper was supported by the Scientific Research Project Administration of Akdeniz University.

## References

[1] Apostol TM. On the Lerch zeta function. Pac J Math 1951; 1: 161-167.
[2] Apostol TM. Introduction to Analytic Number Theory. New Delhi, India: Narosa Publishing, 1998.
[3] Boyadzhiev KN. Apostol-Bernoulli functions, derivative polynomials and Eulerian polynomials. arXiv: 0710.1124v1.
[4] Djordjevic GB, Milovanovic GV. Special classes of polynomials. Leskovac, Serbia: University of Nis Faculty of Technology, 2014.
[5] El-Desouky BS, Mustafa A. New results and matrix representation for Daehee and Bernoulli numbers and polynomials. arXiv: 1412.8259 v 1 .
[6] Jang LC, Pak HK. Non-archimedean integration associated with $q$-Bernoulli numbers. Proceedings of the Jangjeon Mathematical Society 2002; 5: 125-129.
[7] Kim DS, Kim T. Some new identities of Frobenius-Euler numbers and polynomials. J Ineq Appl 2012; 2012: 307.
[8] Kim DS, Kim T. Daehee numbers and polynomials. Applied Mathematical Sciences 2013; 7: 5969-5976.
[9] Kim DS, Kim T. Some identities of degenerate special polynomials. Open Math 2015; 13: 380-389.
[10] Kim DS, Kim T, Seo J. A note on Changhee numbers and polynomials. Adv Stud Theor Phys 2013; 7: 993-1003.
[11] Kim MS. On Euler numbers, polynomials and related p-adic integrals. J Number Theory 2009; 129: 2166-2179.

## ŞIMŞEK/Turk J Math

[12] Kim MS, Son JW. Analytic properties of the $q$-Volkenborn integral on the ring of $p$-adic integers. B Korean Math Soc 2007; 44: 1-12.
[13] Kim T. On a $q$-analogue of the $p$-adic log gamma functions and related integrals. J Number Theory 1999; 76: 320-329.
[14] Kim T. $q$-Volkenborn integration. Russ J Math Phys 2002; 19: 288-299.
[15] Kim T. An invariant p-adic integral associated with Daehee numbers. Integral Transforms Spec Funct 2002; 13: 65-69.
[16] Kim T. Non-Archimedean $q$-integrals associated with multiple Changhee $q$-Bernoulli polynomials. Russ J Math Phys 2003; 10: 91-98.
[17] Kim T. $p$-adic $q$-integrals associated with the Changhee-Barnes' $q$-Bernoulli polynomials. Integral Transform Spec Funct 2004; 15: 415-420.
[18] Kim T. $q$-Euler numbers and polynomials associated with $p$-adic $q$-integral and basic $q$-zeta function. Trends Math 2006; 9: 7-12.
[19] Kim T. On the analogs of Euler numbers and polynomials associated with $p$-adic $q$-integral on $\mathbb{Z}_{p}$ at $q=1$. J Math Anal Appl 2007; 331: 779-792.
[20] Kim T. On the $q$-extension of Euler and Genocchi numbers. J Math Anal Appl 2007; 326: 1458-1465.
[21] Kim T. An invariant $p$-adic $q$-integral on $\mathbb{Z}_{p}$. Appl Math Letters 2008; 21: 105-108.
[22] Kim T. $p$-adic $l$-functions and sums of powers. arXiv: math/0605703v1.
[23] Kim T, Mansour T, Rim SH, Soo JJ. A note on $q$-Changhee polynomials and numbers. Adv Studies Theor Phys 2014; 8: 35-41.
[24] Kim T, Rim SH. Some $q$-Bernoulli numbers of higher order associated with the $p$-adic $q$-integrals. Indian J Pure Appl Math 2001; 32: 1565-1570.
[25] Kim T, Rim SH, Simsek Y, Kim D. On the analogs of Bernoulli and Euler numbers, related identities and zeta and $l$-functions. J Korean Math Soc 2008; 45: 435-453.
[26] Komatsu T. Convolution identities for Cauchy numbers. Acta Math Hung 2014; 144: 76-91.
[27] Lu DQ, Srivastava HM. Some series identities involving the generalized Apostol type and related polynomials. Comput Math Appl 2011; 62: 3591-3602.
[28] Luo QM, Srivastava HM. Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind. Appl Math Comput 2011; 217: 5702-5728.
[29] Özarslan MA. Unified Apostol-Bernoulli, Euler and Genocchi polynomials. Comput Math Appl 2011; 62: 2452-2462.
[30] Ozden H, Simsek Y. A new extension of $q$-Euler numbers and polynomials related to their interpolation functions. Appl Math Lett 2008; 21: 934-939.
[31] Ozden H, Simsek Y. Modification and unification of the Apostol-type numbers and polynomials and their applications. Appl Math Comput 2014; 235: 338-351.
[32] Roman S. The Umbral Calculus. New York, NY, USA: Dover, 2005.
[33] Schikhof WH. Ultrametric Calculus: An Introduction to $p$-adic Analysis. Cambridge, UK: Cambridge University Press 1984.
[34] Simsek Y. $q$-analogue of the twisted $l$-series and $q$-twisted Euler numbers. J Number Theory 2005; 100: 267-278.
[35] Simsek Y. Generating functions for generalized Stirling type numbers, array type polynomials, Eulerian type polynomials and their alications. Fixed Point Theory Appl 2013; 87: 343-355.
[36] Simsek Y. Identities on the Changhee numbers and Apostol-type Daehee polynomials. Adv Stud Contemp Math 2017; 27: 199-212.
[37] Srivastava HM. Some generalizations and basic (or $q-$ ) extensions of the Bernoulli, Euler and Genocchi polynomials. Appl Math Inf Sci 2011; 5: 390-444.
[38] Srivastava HM, Choi J. Zeta and $q$-zeta Functions and Associated Series and Integrals. Amsterdam, the Netherlands: Elsevier Science Publishers, 2012.
[39] Srivastava HM, Kim T, Simsek Y. $q$-Bernoulli numbers and polynomials associated with multiple $q$-zeta functions and basic $L$-series. Russ J Math Phys 2005; 12: 241-268.


[^0]:    *Correspondence: ysimsek@akdeniz.edu.tr
    2010 AMS Mathematics Subject Classification: 05A15, 11B68, 11S80, 26C05, 26C10, 30C15, 43A40

